AR AE I SEIL TN AR FR 3R (BAHE)

=i HLoRE

5537 H (2023/03/14) RiE (BT ) BB @®ULs Eil )
FE & L
HERNO =S4 e |4 (#=|H
0313157 |FEEAKE T E (%) 1000 | A 5[ 2700
5537 H (2023/03/14) RiE (BT ) ER@GBLS EH )
FE & 2L L M S
HERNO =S4 FNAE ARSI ENAE S E N E S EAE S
0313256 |REEAKXEIFE (%) 300 [ A 63| 500] 40 600
0313251 |[E'REF R (&%) 300 | A 34] 600/ 15| 700 6| 500 9] 400
A 32| 500] 57] 500] 28] 400
B 1] 400 2| 500 4] 500 3| 300
B 1] 400
0313252 [BERETE () 300 [ A 5] 600 93] 700 14] 500
A 74] 500] 20| 600
B 1] 400 4] 500 2| 400
0313253 [BERETE () 300 [ A 15/ 800
53 H (2023/03/14) HiE(BHE ) EBGuns B )
B R 2L L M
HERNO =14 N E B ES AR S EAE S ES
0313550 |[EE R B E (%) 300 A 5] 500] 45] 500 10] 400
0313551 |[EREEFE (#) 300 | A 2| 500] 12] 500 2| 400
53 H (2023/03/16) SHiE(BARE ) EB@Bus & )
B R 2L L M S
HERNO =S4 e S| = EiMm | = | Bif | = | 5| $i= | HEif
0315151 [EREhEFE#E) | 300 [ A 5] 450 5/ 500 3] 400 1] 300
0315160 [EREREFEHE) | 300 [ A 41] 500 6] 600 3] 400
A 7] 500
F=3LH (2023/03/16) SiE(BAFE ) BBl EE )
FE& R 2L L M S
HERNO =S4 e SR | = HMm| = | Bl | = | 5| = | HEif
0315250 [FEEARAKETE (k) 300 [ A 40| 500/ 40| 600
0315251 [BERETE (&) 300 | A 33] 450 28] 500 24| 400 9] 300
B 2| 300 3| 300 1] 300
0315252 [ERETE (#%) 300 [ A 33] 500] 36| 550 7] 400
0315253 |[EERETE (%) 300 [ A 15| 800
F=3LH (2023/03/16) [RiE(BAFE ) BB @BuLs A )
& R 2L L M
HERNO =14 e |EHh | &= | B | = | Eif | $= | B
0315550 [ERETE () 300 | A 5] 400 4] 400 6] 300




5537 H (2023/03/16) RiE(BHRE ) BB @GULSs B s )
FE & 2L L M
HERNO =S4 A ETAE S ENAE S EAESEER
0315551 |[EERETE (%) 300 | A 5] 400 14| 400 2| 300
5537 H (2023/03/17) RiE(BRE ) BB @GULs El )
[EE 2L L M S
HERNO =% FNAE ARSI ENAE S BN E S EAE S
0315150 |[EEREHREFE *K) | 3.00 | A 5 450 5/ 500 3] 400 1| 300
0315151 |BEREhREFE (#k) | 300 | A -5 450/ -5| 500/ -3] 400] -1] 300
5537 H (2023/03/17) RiE(BRE ) ER@GBLS EH )
[EE 2L L M S
HERNO =S4 FNAE ARSI ENAE S BN E S EAE S
0316250 |REAKEFE (#%) 300 [ A 10] 600 16] 600
A 14] 500
0316251 [BERETE () 300 | A 20] 500 21] 700[ 11| 600
B 1] 200 3| 400 4] 250 3] 220
B 2| 250
0316252 [ERETE () 300 [ A 6] 700 69] 800[ 10| 600
A 40| 500
B 1] 400
53 H (2023/03/18) SHiE(BRE ) EB@Bus & )
B R 2L L M
HERNO =S4 N E B S ES AR S EAE S ES
0317157 [EERA KRBT E (%) 1000 | A 10| 2700
0317160 |FEREREFE (¥K) | 3.00 | A 24] 400 8] 450 1| 300
53 H (2023/03/18) SHiE(AHE ) BBl EE )
FE& R 2L L M S
HERNO =S4 e SR | = HMm| = | Bl | = | 5| = | HEif
0317250 [FEERAKBETE (k) 300 | A 25| 500/ 12| 600 3| 400
0317251 [BERETE (&) 300 [ A 1l 600 3] 700 4] 600
A 24] 500 7] 600
B 2| 300 1] 300
0317252 [BERETE () 300 [ A 7| 600
F=3LH (2023/03/18) [RiE(BAFE ) BB @BuLs A )
FE& R 2L L M
HERNO =S4 e | SR\ = | Bl | = | Eif | H= | B
0317550 |[EREFE (#%) 300 A 3] 500] 37] 500 13] 500
0317551 |[EE'REFE (%) 300 [ A 2| 500 7] 500




